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HKSAR’s Review Comments on CJK 2015 v3.0 

 

The Hong Kong Special Administrative Region has reviewed CJK 2015 v3.0 and has the following comments: 

1. Unification 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00775 

 

U+2A909 

 

Unification By referring to IWDS (based on IRG#42) and KangXi 

Radical-Stroke Index, should UTC-02849 be unifiable with 

 (U+2A909)? 

IWDS (based on IRG#42):  

KangXi Radical-Stroke Index:  

Original attributes: 

 



2 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00892 

 

U+21827 

 

Unification According to IWDS (based on #42), UTC-01470 should be 

unifiable with U+21827. 

Code chart:  

IWDS (based on #42): 

 

 

Original attributes: 

 

01327 

 

U+2CF4E 

 

(Ext F) 

Unification KC-01343 is identical to U+2CF4E.  Should they be given 

the same radical-stroke value, i.e. 8.9 or 62.7? 

IRGN2130ExtF:  

Original attributes: 

 



3 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03739 

 

U+2E52A 

 

(Ext F) 
Unification According to IWDS (based on #42), G_Z2641303 should be 

unifiable with U+2E52A.  As stated on page 2 of IRGN2133 

ChinaResponseP2, China agreed that the font was unifiable 

with USAT-05420 of Ext F. 

IWDS (based on #42): 

 

 

Page 2, IRGN2133 ChinaResponseP2: 

 

 

 

 

 

Original attributes: 

 



4 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03764 

 

U+2504B 

 

Unification T13-3071 and U+2504B are cognates.  According to Annex 

S.1.5 i): addition or omission of a minor stroke, they should be 

unifiable. 

  Evidence:      Reference: 

  

Original attributes: 

 



5 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03798 

 

U+0891D 

 

Unification According to IWDS (based on IRG#42) and Annex S.1.5 i): 

addition or omission of a minor stroke, UTC-01941 should be 

unifiable with U+0891D. 

IWDS (based on IRG#42): 

 

 

Code chart: 

 

Original attributes: 

 

03800 

 

U+2B304 

 

Unification According to IWDS (based on IRG#42), UTC-01942 should 

be unifiable with U+2B304. 

IWDS (based on IRG#42): 

 

 

Code chart: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03863 

 

U+279FF 

 
Unification T13-307B and U+279FF are cognates.  Are they be unifiable? 

 Evidence:       KangXi Dictionary 

        (1163.100): 

         

Original attributes: 

 



7 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03982 

 

U+27C4F 

 

Unification UTC-01166 and U+27C4F are cognates.  According to Annex 

S.1.5 i): addition or omission of a minor stroke, UTC-01166 

should be unifiable with U+27C4F. 

  Evidence:       KangXi Dictionary 

         (1196.220): 

         

Original attributes: 

 



8 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03992 

 

U+27C94 

 

Unification Should GHZR63859.23 be unifiable with U+27C94 in 

accordance with IWDS (based on #42)? 

IWDS (based on #42): 

 

 

Original attributes: 
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2. Radical 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00947 

 

 

 
Radical 

In the light of the meaning, should the radical be  (Fur, 

R82) rather than  (Roof, R40)?  If yes, then SC=8, 

FS=4. 

Evidence: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01206 

 

 

 
Radical 

In the light of the meaning, should the radical be  (Tree, 

R75) rather than  (Step, R60)?  If yes, then SC=15, FS=3. 

Evidence: 

 

Original attributes: 

 



11 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01207 

 

 

 
Radical 

In the light of the meaning, should the radical be  (Fish, 

R195.1) rather than  (Step, R60)?  If yes, then SC=11, 

FS=3. 

Evidence:  

KangXi Dictionary: 1476.330 (Fish, SC=11) 

 

Original attributes: 

 



12 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01314 

 

 

 
Radical 

In the light of the meaning, should the radical be  

(Turban, R50) rather than  (Heart, R61)?  If yes, then 

SC=18. 

Evidence:

 

Original attributes: 

 



13 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03667 

 

 

 
Radical 

In the light of the meaning, should the radical be  (Tree, 

R75) rather than  (Grass, R140)? 

Evidence: 

 

Original attributes: 

 



14 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03825 

 

 

 
Radical The radical should be 147 instead of 147.1 as it is not in 

simplified form. 

Evidence:  

Page 25, IRGN2155ChinaResponsesPart2Zhuang: 

 

 

 

 

 

Original attributes: 

 



15 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03962 

 

  Radical 

According to the evidence, is a variant of  

(radical:  (Roof, R40)).  Should the radical of  

be  (Roof, R40) too, rather than  (Valley, R150)?  

If yes, then SC=17, FS=3. 

Evidence: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

04268 

 

 

 
Radical 

It is noted that  is not a variant form of  (Walk, 

R162).  Should the radical be changed to  (Second, R5) 

instead? 

Evidence:  

Discussion record: 

 

Original attributes: 

 

3. Font design 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00741 

 

 

 
Font design It is suggested that the first dot should be modified. 

Reference:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00762 

 

 

 
Font design The upper right component of KC-00720 looks more like 

 than .  Should it be modified to make the second 

horizontal stroke clearer? 

 

Bitmap:  

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00771 

 

00767 

 
Font design It is suggested that the last horizontal stroke of KC-00724 

should be removed while that of UTC-01220 should be longer 

than the second last horizontal stroke as shown in the evidence.  

If the fonts are so modified, should they be disunified and the 

SC of KC-00724 be changed to 10? 

Evidence:   

Discussion record:  

Original attributes: 

 

00777 

 

  Font design As shown in the evidence, the upper right component of 

UTC-01219 looks like  rather than .  Should the 

component be modified to reflect the actual shape of the font? 

Evidence:  

Original attributes: 

 



19 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00788 

 

 

 
Font design The upper left component as shown in the evidence looks like 

 rather than .  Should KC-00773 be modified to 

reflect the actual shape of the font? 

Evidence:  

Original attributes: 

 

00806 

 

 

 
Font design The lower left component shown in the evidence looks like 

 rather than .  Should KC-04946 be modified to 

reflect the actual shape of the font? 

Evidence:  

Original attributes: 

 

00828 

 

 

 
Font design As shown in the evidence, the last stroke is  rather than 

.  Should UTC-00992 be modified to reflect the actual 

shape of the font? 

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00835 

 

 

 
Font design It is suggested that the left component of G-Z3481504 should 

adopt  rather than . 

Evidence:  

Original attributes: 

 

00857 

 

 

 
Font design The font shown in the main entry looks different from that 

shown in the first line.  Which one is stable? 

Evidence:  

Original attributes: 

 

00980 

 

 

 
Font design It is suggested that G_Z3951603 should be modified by 

disconnecting the last two strokes from the upper right 

component as shown in the evidence. 

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00983 

 

 

 
Font design As shown in the evidence, the lower component looks like 

 rather than .  Should modification be made to 

UTC-01226? 

Evidence:  

Original attributes: 

 

00999 

 

 

 
Font design It is suggested that the last stroke of the left component should 

be modified as a dot rather than a right-falling stroke. 

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01006 

 

 

 
Font design 

It is noted that the middle component  of UTC-02809 

looks different from that shown in the evidence where the 

main entry adopts  and the sub-entry adopts .  

Which one is stable? 

Evidence: (main entry) 

(sub-entry) 

(last line) 

Original attributes: 

 



23 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01054 

 

 

 
Font design It is suggested that KC-00986 should be modified as the 

middle component shown in the evidence does not merely 

comprise  and .  It looks more like  

(U+3802), forming the term . 

Evidence: 

 

 

 

 

 

 

 

 

 

 

Code chart:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01059 

 

 

 
Font design It is suggested that KC-00995 should be modified as the 

middle component shown in the evidence looks like  

rather than .  If the font is modified, then SC=10. 

Evidence:  

Original attributes: 

 

01066 

 

 

 
Font design It is suggested that KC-01028 should be modified as the right 

component shown in the evidence looks like  rather than 

.  If the font is modified, then SC=9, FS=4; if the font 

remains unchanged, FS=5. 

Evidence:  

Original attributes: 

 



25 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01072 

 

 

 
Font design It is suggested that one horizontal stroke should be removed 

from the upper right component of KC-01045 so as to reflect 

the actual shape of the font as shown in the evidence.  If the 

font is modified, then SC=11. 

Evidence:  

Original attributes: 

 

01073 

 

 

 
Font design It is suggested that the highlighted slash of the right 

component of G_Z1761307 should be lengthened so as to 

reflect the actual shape of the font as shown in the evidence. 

Evidence:  

Original attributes: 

 

01125 

 

 

 
Font design The shape of the font shown in the main entry of the evidence 

does not look like that in the entry.  Which one is stable? 

Evidence: (main entry) 

(first two lines) 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01145 

 

 

 
Font design It is suggested that KC-01124 should be modified as the upper 

component inside the radical looks more like  than 

. 

Evidence:  

Original attributes: 

 

01208 

 

 

 
Font design It is suggested that the proportion of the upper component to 

the lower component of UTC-01006 should be adjusted. 

 

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00346 

 

 

 
Font design It is suggested that G_Z1841301 should be modified by 

folding back the last stroke of the upper component as shown 

in the evidence so as to reflect the actual shape of the font. 

Evidence:  

Discussion record:  

Page 5, IRGN2155ChinaResponsesPart2Zhuang: 

 

 

 

 

 

 

 

Code chart:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01245 

 

 

 
Font design It is suggested that the proportion of the upper right component  

to the lower right component of UTC-01013 should be 

adjusted. 

 

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03677 

 

U+2C7CF 

 

Font design According to the evidence, should be removed from 

UTC-01430 and the components on the left and right should be 

connected with two horizontal strokes.  The actual shape 

should look like , which is unifiable with U+2C7CF. 

 

Evidence:  

Code chart:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03678 

 

 

 
Font design Modification should be made to KC-03739 as the top 

component should be  rather than , and the middle 

component should look like  rather than . 

 

Evidence:  

Code chart:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03834 

 

 

 
Font design Modification should be made to UTC-01414 as the vertical 

stroke encircled should not overshoot the last horizontal stroke 

of the left component. 

 

Evidence:  

Original attributes: 

 

03835 

 

 

 
Font design Modification should be made to UTC-01415 as the vertical 

stroke encircled should not overshoot the last horizontal stroke 

of the upper component. 

 

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03847 

 

 

 
Font design According to the evidence, the left component of UTC-01454 

should look like  rather than .  Modification should 

be made to reflect the actual shape of the font. 

 

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03859 

 

 

 
Font design According to the evidence, the right component of KC-03894 

looks like  rather than .  Also, it is mentioned on 

page 11 of IRGN2155ROKResponse 161007 that KR would 

change the font.  However, the font is yet to be changed.  If 

the font is so changed, then SC=8. 

 

Evidence:  

Page 11, IRGN2155ROKResponse 161007: 

 

 

 

 

Discussion record:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03959 

 

U+27BC1 

 

Font design According to the evidence, the right component should look 

like  rather than .  The font as shown in the evidence 

should be unified with U+27BC1 for they are identical. 

 

Evidence:  

Code chart:  

Original attributes: 

 

03966 

 

  Font design T13-3122 is yet to be updated.  According to page 11, 

IRGN2155TCA_Response, the font should be modified as 

. 

Discussion record:  

Page 11, IRGN2155TCA_Response: 

 

 

 

 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03982 

 

 

 
Font design As shown in the evidence, the horizontal stroke in the middle 

should be relatively shorter than the last horizontal stroke and 

the vertical stroke should be slightly shortened.. 

Evidence:  

Original attributes: 

 

04134 

 

 

 
Font design According to the evidence, the short left-falling stroke on top 

of the component  should be removed.  UTC-01168 

should be modified to reflect the actual shape of the font.  If 

the font is modified, then SC=15. 

 

Evidence:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

04292 

 

 

 
Font design To align with other characters under the same radical in the T 

column of the code chart, should the radical component of 

T13-313A adopt instead of ? 

Evidence:  

Code chart:  

Original attributes: 

 

04296 

 

 

 
Font design To align with other characters under the same radical in the T 

column of the code chart, should the radical component of 

T13-313B adopt  instead of ? 

Evidence:  

Code chart:  

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

04298 

 

 

 
Font design To align with other characters under the same radical in the T 

column of the code chart, should the radical component of 

T13-313D adopt instead of ? 

Evidence:  

Code chart:  

Original attributes: 

 

04299 

 

 

 
Font design According to the evidence, the vertical stroke does not fold 

back at the stroke termination.  Modification should be made 

to T13-313C to reflect the actual shape of the font. 

 

Evidence:  

Original attributes: 
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4. Wrong glyph 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

04270 

 

 

 
Wrong glyph According to the bitmap file and evidence file, G_Z2151501 

should be  (SC=5, FS=3), not . 

Bitmap file:  

Evidence file: 

 

Original attributes: 

 



39 

5. Evidence quality 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00989 

 

 

 
Evidence quality The evidence, other than the main entry, is too unclear to 

identify the left and the upper right components as  and 

 respectively. 

Evidence: (main entry) 

(first two lines) 

Original attributes: 

 

6. SC & FS 

SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00745 

 

 

 
FS FS=1 

As a convention, the lower component , rather than the 

upper left one, should be taken as the radical. 

Original attributes: 

 

00756 

 

 

 
SC SC=11 Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00776 

 

 

 
FS FS=2 

IRGN954AR #44: 

 

Original attributes: 

 

00784 

 

 

 
SC SC=13 

IRGN954AR #35: 

 

Original attributes: 

 

00788 

 

 

 
FS FS=2 Original attributes: 

 

00791 

 

 

 
SC SC=14 

IRGN954AR #35: 

 

Original attributes: 

 

00798 

 

 

 
FS FS=5 Original attributes: 

 

00806 

 

 

 
SC SC=23 Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00813 

 

 

 
FS FS=4 Original attributes: 

 

00826 

 

 

 
FS FS=2 Original attributes: 

 

00834 

 

 

 
FS FS=1 Original attributes: 

 

00836 

 

 

 
SC SC=8 

IRGN954AR #15: 

 

Original attributes: 

 

00880 

 

 

 
FS FS=2 

Reference: IRGN954AR #44: 

 

Original attributes: 

 

00881 

 

 

 
FS FS=1 Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00890 

 

 

 
SC SC=11 

Page 26, IRGN1113: 

 

 

 

 

Original attributes: 

 

00897 

 

 

 
FS FS=5 

IRGN954AR #9: 

 

Original attributes: 

 

00899 

 

 

 
SC SC=19 

Reference:    

Code chart: 

 

Original attributes: 

 

00948 

 

 

 
FS FS=4 

IRGN954AR #31: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

00110 

 

 

 
FS By adopting negative residue stroke of -1, the FS should be 0. 

Evidence:  

Discussion record:  

Original attributes: 

 

00109 

 

 

 
FS By adopting negative residue stroke of -1, the FS should be 0. 

Evidence:  

Discussion record:  

Original attributes: 

 

01036 

 

 

 
FS FS=2 

Ref: Page 5, IRGN2155ROKResponse161007: 

 

 

 

 

Original attributes: 

 

01047 

 

 

 
FS FS=4 

IRGN954AR #76: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01067 

 

 

 
FS FS=2 

IRGN 1105 #19: 

 

Original attributes: 

 

01071 

 

 

 
SC SC=13 

IRGN954AR #35: 

 

Original attributes: 

 

01105 

 

 

 
FS FS=3 

 

Original attributes: 

 

01180 

 

 

 
SC, FS SC=11, FS=2 

IRGN954AR #36: 

 

Original attributes: 

 

01202 

 

 

 
SC SC=11 

IRGN954AR #35: 

 

Original attributes: 

 

01278 

 

 

 
FS FS=1 

IRGN954AR #46: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

01256 

 

 

 
SC, FS SC=8, FS=2 

IRGN954AR #36: 

 

Original attributes: 

 

01322 

 

 

 
SC SC=6 

IRGN954AR #35: 

 

Reference:  

Original attributes: 

 

03672 

 

 

 
FS FS=3 Original attributes: 

 

03679 

 

 

 
SC, FS SC=6, FS=3 Original attributes: 

 

03727 

 

 

 
FS FS=5 

IRGN954AR #42: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03730 

 

 

 
SC SC=9 

IRGN954AR #35: 

 

Original attributes: 

 

03736 

 

 

 
SC SC=10 

IRGN954AR #35: 

 

Original attributes: 

 

03738 

 

 

 
SC SC=10 

IRGN954AR #31: 

 

Original attributes: 

 

03761 

 

 

 
SC SC =15 Original attributes: 

 

03762 

 

 

 
SC SC=19 

IRGN954AR #35: 

 

Original attributes: 

 

03777 

 

 

 
FS FS=1 

IRGN954AR#13: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03783 

 

 

 
SC, FS SC=6, FS=1 

IRGN954AR #25: 

 

Discussion record:  

Original attributes: 

 

03784 

 

 

 
FS FS=2 

IRGN954AR #36: 

 

Original attributes: 

 

03792 

 

 

 
SC, FS SC=8, FS=2 

IRGN954AR #36: 

 

Original attributes: 

 

03829 

 

 

 
SC, FS SC=10, FS=5 

Reference: 

 

 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03833 

 

 

 
FS The FS must be 0 because the SC is 0. 

 

Original attributes: 

 

03858 

 

 

 
SC SC=7 

IRGN954AR #35: 

 

Original attributes: 

 

03879 

 

 

 
SC, FS SC=14, FS=2 

IRGN954AR #36: 

 

Original attributes: 

 

03881 

 

 

 
SC SC=12 or 13? 

Code chart: 

(SC=12) 

(SC=12) 

(SC=13) 

(SC=13) 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03908 

 

 

 
SC SC=7 

IRGN954AR #35: 

 

Original attributes: 

 

03915 

 

 

 
FS FS=1 Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03919 

 

 

 
SC SC=7 or 8? 

It is resolved at IRG47 meeting that the SC of  should be 

taken as 3: 

Discussion record:  

Code chart:  

It should be noted that the radical of U+590B is  (Go 

Slowly, R35).  The SC of both  (Go, R34) and  

(Go Slowly, R35), as Kangxi radicals, is 3. 

However, according to IRGN954AR #35, the SC of  is 4. 

IRGN954AR #35: 

 

To put this beyond doubt, should IRGN954AR #35 be 

amended in accordance with the latest resolution or kept 

unchanged? 

Original attributes: 

 

03950 

 

  SC SC=15 

IRGN954AR #35: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

03972 

 

  FS FS=3 

IRGN954AR #45: 

 

Original attributes: 

 

03979 

 

 

 
FS FS=1 

IRGN954AR #13: 

 

Original attributes: 

 

03991 

 

 

 
SC SC=14 

Evidence:  

Original attributes: 

 

03997 

 

 

 
SC SC=4 

IRGN954AR #2: 

 

Original attributes: 

 

04006 

 

 

 
SC SC=4 

IRGN954AR #24 

 

Original attributes: 

 

04014 

 

 

 
FS FS=2 

IRGN954AR #20: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

04024 

 

  SC SC=10 Original attributes: 

 

04109 

 

  FS FS=5 

IRGN954AR #25: 

 

Original attributes: 

 

04119 

 

 

 
FS FS=3 Original attributes: 

 

04130 

 

 

 
FS FS=2 

IRGN954AR #36: 

 

Original attributes: 

 

04136 

 

 

 
FS FS=2 

IRGN954AR #36: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

04183 

 

 

 
SC SC=13 

Code chart: 

(SC=13) 

(SC=12) 

IRGN954AR #26: 

 

Ref: Page 3, IRGN2155ROKResponse161007: 

 

 

 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

04220 

 

 

 
SC SC=8 or 9? 

It is resolved at IRG47 meeting that the SC of  should be 

taken as 3: 

Discussion record:  

Code chart:  

It should be noted that the radical of U+590C is  (Go 

Slowly, R35).  The SC of both  (Go, R34) and  

(Go Slowly, R35), as Kangxi radicals, is 3. 

However, according to IRGN954AR #35, the SC of  is 4. 

IRGN954AR #35: 

 

To put this beyond doubt, should IRGN954AR #35 be 

amended in accordance with the latest resolution or kept 

unchanged? 

Original attributes: 

 

04229 

 

 

 
SC SC=10 

IRGN954AR #35: 

 

Original attributes: 
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SN1 Image 1 SN2 Image 2 Comment Type Comment Note 

04230 

 

 

 
SC SC=10 

IRGN954AR #35: 

 

Original attributes: 

 

04250 

 

 

 
FS FS=3 

Discussion record: 

 

Original attributes: 

 

04251 

 

 

 
FS FS=5 

Discussion record: 

 

Original attributes: 

 

04292 

 

 

 
SC, FS SC=10, FS=2 

IRGN954AR #36: 

 

 

Original attributes: 

 

04295 

 

 

 
SC SC=10 

IRGN954AR #35: 

 

Original attributes: 

 

End of document 


